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A bicycle dealer incurs an expense of
Rs.𝟖𝟎𝟎 for producing every bicycle. He also
incurs an additional fixed expense of
Rs.𝟑𝟎, 𝟎𝟎𝟎 per month. He sells each bicycle
at Rs.𝟏𝟓𝟎𝟎. If he can produce and sell 𝟐𝟎𝟎
bicycle in that month, he made a profit of
एक साईककल उत्पादक को हर साईककल
बनाने में 𝟖𝟎𝟎 रूपए का खर्ाा होता है| इसके
अलावा उसे हर महीने 𝟑𝟎, 𝟎𝟎𝟎 रूपए का
खर्ाा भी होता है| और वह हर साईककल को
𝟏𝟓𝟎𝟎 रूपए में बेर्ता है| अगर वह एक
महीने में 𝟐𝟎𝟎 साइककल बनाकर बेर्े तो
ककतना फायदा होगा?
a) Rs.𝟏, 𝟕𝟎, 𝟎𝟎𝟎 b) 𝟏, 𝟒𝟎, 𝟎𝟎𝟎
c) 𝟏, 𝟏𝟎, 𝟎𝟎𝟎 d) 𝟕𝟎, 𝟎𝟎𝟎
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A dealer manufactures chairs and sells each
chair at Rs.𝟏𝟐𝟎. The cost of manufacturing
each chair is Rs.80. It also costs him
Rs.𝟏𝟐𝟎𝟎𝟎 per month which is independent
of the number of chairs manufactured. If he
can sell all the chairs that he manufactured
in a month, how many chairs he has to
manufacture in a month to avoid loss?
एक उत्पादक कुर्साया बनाकर 𝟏𝟐𝟎 रु प्रत्येक के
हहसाब से बेर्ता है| हर कुसी को बनाने में 𝟖𝟎रु का
खर्ाा होता है| वह ककतनी भी कुसी बनाये पर उसे
महीने का 𝟏𝟐𝟎𝟎𝟎 रु का खर्ाा होता ही है| वह
जितनी भी कुर्साया बना सकता है वह उन सबको
बेर्ने में सक्षम है| तो हानन से बर्ने के र्लए उसे
ककतनी कुर्साया बनानी पड़गेी?
a) 𝟏𝟎𝟎 b) 𝟏𝟓𝟎
c) 𝟑𝟎𝟎 d) None of these
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A manufacturer of a certain item can sell all
he can produce at the selling price of Rs. 𝟔𝟎
each. It costs him Rs.𝟒𝟎 on materials and
labor to produce each item and he has
overhead expenses of Rs.𝟑𝟎𝟎𝟎 per week in
order to operate that plant. The number of
units he should produce and sell per week
in order to make a profit of at least Rs𝟏𝟎𝟎𝟎
per week.
ककसी वस्तु का उत्पादक सारे वस्तओु को
𝟔𝟎रु प्रत्येक के हहसाब से बेर्ता है| हर वस्तु
के उत्पादन में उसे सामग्री तथा मिदरूी के
𝟒𝟎रु खरर्ने पड़ते है| और हर हफ्ते 𝟑𝟎𝟎𝟎रु
का फायदा र्ाहहए तो ककतनी वस्तओु का
उत्पादन करना पड़गेा?
a) 𝟐𝟓𝟎 b) 𝟑𝟎𝟎 c) 𝟒𝟎𝟎 d) 𝟐𝟎𝟎
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A bicycle dealer incurs an expense of
Rs.𝟖𝟎𝟎 for producing every bicycle. He also
incurs an additional fixed expense of
Rs.𝟑𝟎𝟎𝟎𝟎 per month. He sells each bicycle
at Rs.𝟏𝟓𝟎𝟎. What is the minimum no. of
bicycle that he must produce to avoid loss?
एक साईककल उत्पादक को हर साईककल
बनाने में 𝟖𝟎𝟎 रूपए का खर्ाा होता है| इसके
अलावा उसे हर महीने 𝟑𝟎𝟎𝟎𝟎 रूपए का भी
खर्ाा होता है| और वह हर साईककल को
𝟏𝟓𝟎𝟎 रूपए में बेर्ता है| हानन से बर्ने के
र्लए उसे कम से कम ककतनी साइककल
बनानी पड़गेी?
a) 𝟒𝟏 b) 𝟒𝟐
c) 𝟒𝟑 d) 𝟒𝟒 e) 𝟒𝟓
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A bicycle dealer incurs an expense of Rs.𝟏𝟎𝟎𝟎
for producing every bicycle. Moreover he has a
fixed expense of Rs. 𝟏𝟎, 𝟎𝟎𝟎 every month,
assume that the dealer can sell all the bicycle
that he can manufacture in the same month. If
400 bicycles are manufactured and sold in a
month, he will get a profit of Rs.𝟔𝟎, 𝟎𝟎𝟎 what
should be the selling price of each bicycle?
एक साईककल उत्पादक को हर साईककल बनाने में 𝟏𝟎𝟎𝟎
रूपए का खर्ाा होता है| इसके अलावा उसे हर महीने
𝟏𝟎, 𝟎𝟎𝟎 रूपए का भी खर्ाा होता है, अगर वह हर महीने
जितनी भी साईककल बनाये उन्हें बेर् सकता है| अगर एक
महीने में 𝟒𝟎𝟎 साइककल बनाकर बेर्ी िाती है तो उसे
𝟔𝟎, 𝟎𝟎𝟎 रु का फायदा होता है| तो हर साइककल की
लागत कीमत बताओ?
a) Rs.𝟏𝟎𝟐𝟓 b) Rs.𝟏𝟎𝟕𝟓 c) Rs.𝟏𝟏𝟐𝟓
D) Rs.𝟏𝟏𝟓𝟎 e) Rs.𝟏𝟏𝟕𝟓
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A bicycle dealer incurs an expense of Rs.𝟏𝟎𝟎𝟎
for producing every bicycle. Moreover he has a
fixed expense of Rs.𝟏𝟎, 𝟎𝟎𝟎 every month,
assume that the dealer can sell all the bicycle
that he can manufacture in the same month.
If he gets a profit of Rs.𝟓𝟎, 𝟎𝟎𝟎 in a month by
selling each bicycle at Rs.𝟏𝟏𝟎𝟎, how many
bicycles did he manufacture in that month?
एक साईककल उत्पादक को हर साईककल बनाने में 𝟏𝟎𝟎𝟎
रूपए का खर्ाा होता है| इसके अलावा उसे हर महीने
𝟏𝟎, 𝟎𝟎𝟎 रूपए का भी खर्ाा होता है, अगर वह हर
महीने जितनी भी साईककल बनाये उन्हें बेर् सकता है|
अगर हर साइककल को 𝟏𝟏𝟎𝟎 रु में बेर्कर उसने एक
महीने 𝟓𝟎, 𝟎𝟎𝟎रु का लाभ कमाया तो उसने उस महीने
में ककतने साइककल बनायीीं?
a) 𝟑𝟎𝟎 b) 𝟒𝟎𝟎 c) 𝟓𝟎𝟎
d) 𝟔𝟎𝟎 e) None
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A company purchases two components A
and B from another company, which form
𝟑𝟎% and 𝟓𝟎% of the total production
cost. Current gain is 𝟐𝟎%. If the cost of A
& B increases by 𝟑𝟎% & 𝟐𝟐% respectively
but due to competition in the market the
S.P, is increased by only 𝟏𝟎%, what is the
gain now?
एक कीं पनी दसूरी कीं पनी से A और B दो घटक लेती
है, िो की कुल उत्पादन कीमत का क्रमशः 𝟑𝟎%
तथा 𝟓𝟎% है. किलहाल 𝟐𝟎% फायदा हो रहा है|
अगर A और B की लागत कमाश: 𝟑𝟎% तथा
𝟐𝟐% बढ़ िाते है पर बािार में होड़ के कारण
वव.मूल्य को र्सफा 𝟏𝟎% बढाया गया, तो लाभ%
क्या होगा?
a) 𝟏𝟐. 𝟓% b) 𝟏𝟎%
c) 𝟐𝟎% d) 𝟕. 𝟓%
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A company purchases two components A and B
from another company, which form 𝟐𝟎% and 𝟑𝟎%
of the total production cost. Current gain is 𝟐𝟎%.
If the cost of ‘A’ & ‘B’ increases by 𝟏𝟎% & 𝟐𝟎%
Respectively by what percent, the S.P., is to be
increased to get 𝟐𝟎% profit?
एक कीं पनी दसूरी कीं पनी से A और B दो घटक लेती
है, िो की कुल उत्पादन कीमत का क्रमशः 𝟐𝟎%
तथा 𝟑𝟎% है. किलहाल 𝟐𝟎% फायदा हो रहा है|
अगर A और B की लागत कमाश 𝟏𝟎% तथा 𝟐𝟎%
बढ़ िाती है तो 𝟐𝟎% मनुाफे के र्लए वव.मलू्य को
ककतना % बढ़ाना पड़गेा?
a) 𝟏𝟔% b) 𝟖%
c) 𝟏𝟎% d) 𝟏𝟓% e) 𝟑𝟎%
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A shopkeeper sells two tables, each procured at cost price
𝒑, to Amal and Asim at a profit of 𝟐𝟎% and at a loss of
𝟐𝟎%, respectively. Amal sells his table to Bimal at a profit
of 𝟑𝟎%, while Asim sells his table to Barun at a loss of
𝟑𝟎%. If the amounts paid by Bimal and Barun are 𝒙 and 𝒚,

respectively, then
𝒙 −𝒚

𝒑
equals

एक दकुानदार दो टेबल बेर्ता है, प्रत्येक को लागत मलू्य 𝒑
पर खरीदा िाता है, अमल और असीम को क्रमशः 𝟐𝟎% के
लाभ पर और 𝟐𝟎% की हानन पर बेर्ता है। अमल 𝟑𝟎% के
लाभ पर अपनी टेबल को बबमल को बेर्ता है, िबकक
असीम अपनी टेबल को 𝟑𝟎% के नकुसान पर बारुन को
बेर्ता है। यहद बबमल और बरुन द्वारा भगुतान की गई
रार्श क्रमशः 𝒙और 𝒚 है, तो 𝒙 – 𝒚

𝒑
बराबर है :

a) 𝟎. 𝟕 b) 𝟏
c) 𝟏. 𝟐 d) 𝟎. 𝟓𝟎

CAT 2019
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The manufacturer of a table sells it to a
wholesale dealer at a profit of 𝟏𝟎%. The
wholesale dealer sells the table to a retailer at
a profit of 𝟑𝟎%. Finally, the retailer sells it to a
customer at a profit of 𝟓𝟎%. If the customer
pays Rs 𝟒𝟐𝟗𝟎 for the table, then its
manufacturing cost (in Rs) is
एक मेज़ का ननमााता इसे थोक व्यापारी को
𝟏𝟎% के लाभ पर बेर्ता है। थोक व्यापारी एक
ररटेलर को 𝟑𝟎% के लाभ पर तार्लका बेर्ता
है। अींत में, ररटेलर इसे 𝟓𝟎% के लाभ पर
ग्राहक को बेर्ता है। यहद ग्राहक मेज़ के र्लए
𝟒𝟐𝟗𝟎 रुपये का भगुतान करता है, तो इसकी
ववननमााण लागत (रु में) है
a) 𝟏𝟓𝟎𝟎 b) 𝟐𝟎𝟎𝟎 c) 𝟐𝟓𝟎𝟎 d) 𝟑𝟎𝟎𝟎

CAT 2017
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A merchant can buy goods at the rate of Rs. 𝟐𝟎
per good. The particular good is part of an overall
collection and the value is linked to the number
of items that are already on the market. So, the
merchant sells the first good for Rs. 𝟐, second
one for Rs. 𝟒, third for Rs. 𝟔…and so on. If he
wants to make an overall profit of at least 𝟒𝟎%,
what is the minimum number of goods he should
sell?
एक व्यापारी 𝟐𝟎 रुपये प्रनत की दर से सामान
खरीद सकता है। ववशषे वस्तु समग्र सींग्रह का
हहस्सा है और मूल्य उन वस्तुओीं की सींख्या से
िुड़ा हुआ है िो पहले से ही बािार में हैं। तो,
व्यापारी पहली वस्तु को 𝟐 रुपये में बेर्ता है दसूरे
को 𝟒 रुपये में तीसरी को 𝟔 रुपये में और आगे
इसी तरह से बेर्ीीं। यहद वह कम से कम 𝟒𝟎% का
समग्र लाभ कमाना र्ाहता है, तो उसे बेर्ी िाने
वाली वस्तुओीं की न्यूनतम सींख्या क्या होगी?
a) 𝟐𝟒 b) 𝟏𝟖 c) 𝟐𝟕 d) 𝟑𝟐



13

Sachin sold two products, a keyboard and a
mouse for Rs 𝟓𝟑𝟐𝟖. If he sold keyboard at a
profit of 𝟐𝟐% and a piece of mouse at a loss
of 𝟐𝟎% then find the overall profit/loss in
rupees. The Cost price of keyboard is equal
to Selling price of a piece of mouse.
सचर्न ने दो उत्पाद- एक कीबोर्ा और एक
माउस 𝟓𝟑𝟐𝟖 रु. में बेर्।े यहद उसने कीबोर्ा
को 𝟐𝟐% के लाभ पर बेर्ा और माउस को
𝟐𝟎% की हानन पर बेर्ा, तो समग्र लाभ/हानन
(रु. में) ज्ञात करें। कीबोर्ा का क्रय मलू्य,
माउस के ववक्रय मलू्य के बराबर है|
a) Rs. 𝟕𝟐 b) Rs. 𝟖𝟖
c) Rs. 𝟏𝟐𝟐 d) Rs. 𝟔𝟎
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A shopkeeper sold t-shirt and a trouser to its
customer. Cost price of a t-shirt is 40% more than
the selling price of a trouser. The trouser is sold

on 𝟑𝟑
𝟏

𝟑
% profit while the ratio of selling price of

t-shirt to the trouser is 𝟓: 𝟒 respectively. find the
overall profit/loss percent of the shopkeeper?
एक दकुानदार ने अपने ग्राहक को टी-शटा और एक
पतलनू बेर्ी। टी-शटा की लागत मलू्य पतलनू की
बबक्री मलू्य से 𝟒𝟎 % अचिक है। पतलनू को
𝟑𝟑

𝟏

𝟑
% लाभ पर बेर्ा िाता है िबकक पतलनू को

टी-शटा की बबक्री मलू्य का अनपुात क्रमशः 𝟓: 𝟒
है। दकुानदार का कुल लाभ / हानन प्रनतशत ज्ञात
कीजिये?
a) 𝟒

𝟐𝟖

𝟒𝟑
% b) 𝟒

𝟐

𝟒𝟏
%

c) 𝟐𝟎% d) 𝟏𝟎%



First trader calculates profit % on CP while

second trader calculates his profit % on SP.

Both sells their article at same price Rs.𝟑𝟕𝟔𝟎

and both claims to gain a profit of 𝟏𝟕. 𝟓%. Find

the difference of their actual profit?

एक व्यापारी % लाभ को लागत मलू्य पर गणन
ककया तथा दसूरे व्यापारी ने ववक्रय मलु्यी पर
गणना ककया| दोनो ने 𝟑𝟕𝟔𝟎 रु. में अपनी-अपनी
वस्तएुीं, बेर्ी तथा दोनों ने 𝟏𝟕. 𝟓% लाभ कमाने
का दावा ककया| उनके द्वारा अजिात यथाथा लाभो
का अींतर क्या है?
a) Rs.𝟗𝟔 b) Rs.𝟗𝟎 c) Rs.𝟗𝟖 d) Rs.𝟏𝟎𝟐
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In a market, the price of medium quality
mangoes is half that of good mangoes. A
shopkeeper buys 𝟖𝟎 kg good mangoes and 𝟒𝟎
kg medium quality mangoes from the market
and then sells all these at a common price which
is 𝟏𝟎% less than the price at which he bought
the good ones. His overall profit is
एक बािार में, मध्यम गणुवत्ता वाले आम की
कीमत अच्छे आम से आिी है। एक दकुानदार
बािार से 𝟖𝟎 ककलो अच्छे आम और 𝟒𝟎 ककलो
मध्यम गणुवत्ता के आम खरीदता है और कफर इन
सभी को एक आम कीमत पर बेर्ता है िो उस
कीमत से 𝟏𝟎% कम है जिस पर उसने अच्छे
लोगों को खरीदा था। उसका समग्र लाभ है
a) 𝟔% b) 𝟖%
c) 𝟏𝟎% d) 𝟏𝟐%

CAT 2017



CP of an article is C & SP is S and Z is profit % or

loss %. If CP and SP both increased by same

amount, then:

ककसी वस्तु का क्रयमलू्य C तथा ववक्रय मलू्य S है
Z लाभ % या हानन % है| यहद क्रय मलू्य तथा
ववक्रय मलू्य को समान मात्रा से बढ़ाया िाए तो:
a) Z Increase b) Z Decrease

c) Z= constant d) can’t be determined
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The cost price of a shirt is increased by 𝟐𝟎%. A

trader who revised the selling price of the shirt

to maintain the same profit percentage, noted

that he got Rs.𝟏𝟎 more in profit on selling one

shirt after he revised the selling price. What is

his new profit (in Rs.)?

एक कमीि की लागत मलू्य 𝟐𝟎% बढ़ िाती है|
एक व्यापारी कमीि के ववक्रय मलू्य को इस
प्रकार पररवनतात करता है की लाभ प्रनतशत समान
रहे| नए ववक्रय मलू्य पर कमीि को बेर्ने से
व्यापारी को 𝟏𝟎 रुपया अचिक लाभ होता है|
व्यापारी का नया लाभ (रूपये में) क्या है?
a) 𝟓𝟎 b) 𝟏𝟎𝟎 c) 𝟔𝟎 d) 40
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The costs of two watches were in the ratio

𝟏𝟔 ∶ 𝟐𝟑. The cost of first watch increases by

𝟏𝟎% and that of second by Rs.𝟒𝟕𝟕. Now

the costs of two watches are in the ratio of

𝟏𝟏 ∶ 𝟐𝟎. The price of the second watch in

the beginning was?

दो घड़ड़यों के क्रय का अनपुात 𝟏𝟔 ∶ 𝟐𝟑 है|
पहले घड़ी के क्रय मलू्य को 𝟏𝟎% और दसूरे
घड़ी को 𝟒𝟕𝟕 रु से बढ़ाया गया| अब दोनों
घड़ड़यों के मलू्य को अनपुात 𝟏𝟏 ∶ 𝟐𝟎 है|
प्रारम्भ में दसूरी घड़ी का क्या मलू्य था?
a) Rs.𝟗𝟑𝟐 b) Rs.𝟏𝟐𝟏𝟗

c) Rs.𝟏𝟔𝟗𝟔 d) Rs.𝟖𝟒𝟖
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If the selling price of an article has been 𝟐
𝟐

𝟑

times of original SP then loss% will be

converted into equal profit %. Find loss% of

article if it is sold at original SP?

यहद ककसी वस्तु का ववक्रय मलू्य 𝟐
𝟐

𝟑
गुना कर

हदया िाए, तो इस पर होने वाली हानन %

समान लाभ % में पररवनतात हो िाता है| वस्तु
पर होने वाला हानन % ज्ञात करो|
a) 𝟒𝟓

𝟓

𝟏𝟏
% b) 𝟒𝟎% c) 𝟑𝟖

𝟐

𝟏𝟏
% d) 𝟑𝟗

𝟏

𝟏𝟏
%
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A man makes 𝟓𝟎𝟎 articles at Rs.𝟓 per article. He

fixes the selling price such that if only 𝟒𝟎𝟎 articles

are sold, he would have made a profit of 𝟐𝟎% on

the outlay. However, 𝟖𝟎 articles get spoilt and he

was able to sell 𝟒𝟐𝟎 articles at this price. Find his

actual profit % ?

एक व्यजक्त 𝟓 रु प्रनत वस्तु के हहसाब से 𝟓𝟎𝟎

वस्तुये बनता है| वह वस्तु का ववक्रय मलू्य इस
तरह अींककत करता है कक यहद केवल 𝟒𝟎𝟎 वस्तएुीं
बेर्ी िाए तो उसे 𝟐𝟎% का लाभ हो िबकक 𝟖𝟎

वस्तएुीं खराब हो िाती है और वह इस मलू्य पर
केवल 𝟒𝟐𝟎 वस्तुएीं ही बेर् पाता है| उसका कुल लाभ
% ज्ञात करे|
a) 𝟐𝟓% b) 𝟐𝟔% c) 𝟐𝟒% d) 𝟑𝟑. 𝟑𝟑%
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If I sell a horse for Rs.𝟔𝟐𝟎𝟎 and a cow

for Rs.𝟐𝟔𝟎𝟎 I will earn 𝟏𝟎% profit. If I

sell a horse for Rs.𝟔𝟎𝟎𝟎 and a cow at

its CP then I will earn 𝟏𝟐. 𝟓% profit.

Find difference between CP of each?
यहद मैं एक घोड़ा 𝟔𝟐𝟎𝟎 रु. में और एक गाय
𝟐𝟔𝟎𝟎 रु. में बेर्ता हूूँ तो दोनों की लागत पर
𝟏𝟎% कमाता हूूँ यहद मैं घोड़ा को 𝟔𝟎𝟎𝟎 रु. में
और गाय को उसके क्रय मूल्य पर बेर्ता हूूँ
तो मुझे 𝟏𝟐. 𝟓 का लाभ होता है| प्रत्येक की
लागत मूल्य का अींतर ज्ञात करें|
a) 𝑹𝒔. 𝟐𝟒𝟎𝟎 b) 𝑹𝒔. 𝟐𝟎𝟎𝟎

c) 𝑹𝒔. 𝟐𝟓𝟎𝟎 d) 𝑹𝒔. 𝟏𝟔𝟎𝟎
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A person sold three cows for Rs.𝟖𝟎𝟎𝟎, Rs.𝟏𝟐𝟎𝟎𝟎

and Rs.𝟔𝟎𝟎𝟎 respectively on 𝟏st cow he made a

profit of 𝟐𝟓% and on 𝟐nd he made 𝟐𝟎% profit. If

he made an overall profit of 𝟑𝟎% then find the

CP of 𝟑nd cow?

एक व्यजक्त तीन गाय क्रमश: 𝟖𝟎𝟎𝟎 रु. 𝟏𝟐𝟎𝟎𝟎

रु. और 𝟔𝟎𝟎𝟎 रु. में बेर्ता है| पहली गाय की
बबक्री पर उसे 𝟐𝟓% लाभ और दसूरी पर 𝟐𝟎%

लाभ होता है| यहद इस सौदे में उसे कुल 𝟑𝟎% का
लाभ हो तीसरे गाय की लागत मलू्य ज्ञात करो|
a) 𝟑𝟖𝟎𝟎 b) 𝟑𝟖𝟓𝟎 c) 𝟑𝟕𝟎𝟎 d) 𝟑𝟔𝟎𝟎
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Sonam owns a house worth Rs𝟏𝟎𝟎𝟎𝟎. She sells

it to Abhishek at a profit of 𝟏𝟓%. After some

time, Abhishek sells it back to Sonam at 𝟏𝟓%

loss. Find Sonam gain %/ loss %.

सोनम के पास एक घर है जिस का मलू्य
𝟏𝟎, 𝟎𝟎𝟎 रु. है| उसने अर्भषके को यह घर 𝟏𝟓%

लाभ पर बेर् हदया| कुछ समय बाद अर्भषके ने
सोनम को यह घर 𝟏𝟓% हानन पर बेर् हदया|
सोनम को हुई लाभ % हानन % ज्ञात करें|
a) 𝟐. 𝟐𝟓% gain b) 𝟔. 𝟐𝟓% gain

c) 𝟏𝟕. 𝟔𝟒% gain d) 𝟏𝟕. 𝟐𝟓% gain
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25

Monu bought a Scooter at a discount of

𝟏𝟒
𝟐

𝟕
% on his marked price from showroom.

He earned
𝟑

𝟓
of the amount of his cost price by

renting it for 𝟏𝟒𝟎 days. After that he sell it to
Abhishek at half of his marked price. In this
transaction Monu earned Rs. 𝟏𝟏𝟎𝟎, find the
cost price of the scooter?

मोनू ने शोरूम से अींककत मूल्य पर 𝟏𝟒
𝟐

𝟕
% की

छूट पर एक स्कूटर खरीदा। उसने 𝟏𝟒𝟎 हदनों के
र्लए इसे ककराये पर देकर अपने क्रय मूल्य का
𝟑

𝟓
भाग अजिात ककया| इसके बाद, उसने इसे

अींककत मूल्य के आिे मूल्य पर अर्भषेक को
बेर् हदया। इस लेन-देन में मोनू ने 𝟏𝟏𝟎𝟎 रु.
अजिात ककया, स्कूटर का क्रय मूल्य ज्ञात
कीजिए ?
a) Rs. 𝟔𝟎𝟎𝟎 b) Rs. 𝟓𝟐𝟓𝟎
c) Rs. 𝟔𝟔𝟎𝟎 d) Rs. 𝟖𝟖𝟎𝟎
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